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¢ Tx=H2| SUZ
o it gA:E CIO|E{E SILIZ FOo{A| =23 e| 713 I 22|E E0|

otAl
¢ C++0jAMe] A B MO
P ! FTTTT T 3
1 struct Car basicCar; : : Car basicCar; :
: | » l l
| - : :

struct Car simpleCar;

C 2EfY =8| M X739} C++ 2EfY =N M X7|3}

=k
=

C++0|AM = struct 7|} E M
= $I%t typedef HH0| EES.
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(RacingCar.cpp 1/3)
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#include <iostream>
using namespace std;

#define ID_LEN

#define MAX_SPD
#define FUEL_STEP
#define ACC_STEP
#define BRK_STEP

struct Car

{

char gamerID[ID_LEN];

int fuelGauge;
int curSpeed,;

20
200
2
10
10

// 2= AHD
/] AEH
/] AMEE
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TEHE 0|8 =2
(RacingCar.cpp 2/3)

void ShowCarState(const Car& car) {
cout << "2AFA}HD: " << cargamerlD << end|
cout << "A=EEE " << carfuelGauge << "%" << end|;
cout << "AIHHE: " << carcurSpeed << "km/s" << endl << endl
}
void Accel(Car& car) {
if (car.fuelGauge <= 0)
return;
else
car.fuelGauge -= FUEL_STEP;

if (car.curSpeed + ACC_STEP >= MAX_SPD) {
car.curSpeed = MAX_SPD;
return;

}

car.curSpeed += ACC_STEP;
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(RacingCar.cpp 3/3)

107-108p |

void Break(Car& car) {
if (car.curSpeed < BRK_STEP) {
car.curSpeed = 0;
return;

}
car.curSpeed -= BRK_STEP;

}
int main(void) {
Car run99 = { "run99", 100, 0 };
Accel(run99);
Accel(run99);
ShowCarState(run99);
Break(run99);
ShowCarState(run99);

Car sped77 = { "sped77", 100, 0 };
Accel(sped77);

Break(sped77);
ShowCarState(sped77);

return O;
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(RacingCarFuncAdd.cpp 1/4)
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O] =240t ZH2]

#include <iostream>
using namespace std;

#define ID_LEN 20
#define MAX_SPD 200
#define FUEL_STEP 2
#define ACC_STEP 10

#define BRK_STEP 10
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TXEA| St = et Y|
(RacingCarFuncAdd.cpp 2/4)

struct Car {
char gamerID[ID_LEN];,  // &/AHD

int fuelGauge; /] HEE

int curSpeed; /] BMEE [oqar Ciare oixiz
=X| ROt EIC

void ShowCarState() { A ] f

cout << "ASXHD: " << erlD << endl:
cout << "ARZE " << AlelGauge << "%" << end|;
cout << "HMZL" << curSpeed << "km/s" << endl << end|;

e e EE

- o= N QXE A
void Break() { / =7t olct.
if (curSpeed < BRK_STEP) {

curSpeed = 0;
return;

}

curSpeed -= BRK_STEP;
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(RacingCarFuncAdd.cpp 3/4)
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void Accel()
{
if (fuelGauge <= 0)
return;

else
fuelGauge -= FUEL_STEP;

if (curSpeed + ACC_STEP >= MAX_SPD)

{
curSpeed = MAX_SPD;

return;

}

curSpeed += ACC_STEP;
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(RacingCarFuncAdd.cpp 4/4)
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int main(void)

{

Car run99 = { "run99", 100, 0 };
run99.Accel();

run99.Accel(); RN BH2~0orct
run99.ShowCarState(); "M|0|E{"= 2tz 2+ 4
run99.Break(); StAL BOBA =
run99.ShowCarState();

Car sped77 = { "sped77", 100, 0 };

sped77.Accel();

sped77.Break();

sped77.ShowCarState();

return O;
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T=H| L2 define g} 7| | u=
(RacingCarFuncAdd.cpp £=3)

|

#include <iostream>
using namespace std;

struct Car
{
enum {
ID_LEN = 20,
MAX_SPD = 200,
FUEL STEP = 2,
ACC _STEP = 10,
BRK_STEP = 10
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(RacingCarOuterFunc.cpp 1/4)

#include <iostream>
using namespace std;

struct Car {

enum {

ID_LEN = 20,

MAX_SPD = 200,

FUEL_STEP = 2,

ACC_STEP = 10,

BRK_STEP = 10
b
char gamerID[ID_LEN];,  // 225 XHD
int fuelGauge; /) A=
int curSpeed,; /] AT

void ShowCarState(); IAXRH OO SH2 QY
void Break(); Mook 717
void Accel();
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(RacingCarOuterFunc.cpp 2/4)
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void Car::ShowCarState()

{
)

void Car::Break()

{
)

void Car::Accel()

{
)
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S22 A=H2] x10]|H

& MaAA|e] 7|HE :struct =) class

¢ W= MASIHA FEL IF0IM =7(2t 2 = fIS.
e Carrun99 ={ “run99” , 10, 0 };
< E'_ C= Cardl REAY M= OK, Eel|2< = NG.

}Iilo'l XIAIZE Ho|E(IXIEA]OIER 7|HME 50|l colon E
XIAIX} L= U7t X] E
public: 0{CIME 25
protected: 0] 2ejA =S M-’—'.‘- 2 A0S H2FHE
private: 22 LH(Z2H2 LYo Hel = ?:.-:—)WIM"“S. ol

I]I0>-r|J
I_1|0

oo o
o

& T2 Mo{ XIAIXEL| 7|22k
® XAl : public
o =~ : private
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(RacingCarClassBase.cpp HE(AAREX

122-127p

+3) 1/2)

class Car {
enum {

R

ID_LEN = 20,

#define _CRT_SECURE_NO_WARNINGS
#include <iostream> T~
using namespace std;

ME BZ3H 4 9 | MAX_SPD = 200,
A & HA|SHK| Q| FUEL_STEP = 2,
ol 2oz ACC_STEP = 10,
private Q. 2 7+ El | BRK_STEP = 10

}.

strcpy

A&

5.

—0

char gamerID[ID_LEN];// ==
int fuelGauge;
int curSpeed;

/) ARY
// SRS E

_l._

/

public:

void ShowCarState();
void Break();
void Accel();

void InitMembers(char* ID, int fuel);

\

EL k-
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(RacingCarClassBase.cpp Ha(&A BEEXOZ £
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) 2/2)

int main(void)

{

Car run99:;
run99.InitMe
run99.Accel();

ers( (char *)"run99", 100 );

run99.Accel();

\ M oI5 B A % 7|3131 X
al )

run99.ShowCarState(); %0 XDz e 2=
run99.Break();
run99.ShowCarState();

Car sped77;
sped77.InitMembers((char *)"sped77", 100);
sped77.Accel();

sped77.Break();

sped77.ShowCarState();

return O;
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C++0llA2] T

¢ S22 g2 SYA 0|SS © .h 2 .c Y US
e .h I :3giA MA, Se|A AFE A] include.
e .cpp I : SelA Ho|.

& 2M O|MI0ll Car.h, Car.cpp 71517
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C++0llA{e] Tl

(Car.h)
#ifndef CAR H_
#define CAR H_
class Car {
enum {
ID_LEN = 20,
MAX_SPD = 200,
FUEL_STEP = 2,
ACC_STEP = 10,
BRK_STEP = 10
y
char gamerID[ID_LEN];,  // 225 XHD
int fuelGauge; /) =g
int curSpeed,; /] AT

public:
void InitMembers(char* ID, int fuel);
void ShowCarState();
void Break();
void Accel();
9
#endif // _CAR H_
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(Car.cpp)

#define _CRT_SECURE_NO_WARNINGS
#include <iostream>

#include "Car.h"

using namespace std;

void Car:InitMembers(char* ID, int fuel)

{

y
void Car:ShowCarState()
{

}
void Car::Break()

{

}
void Car::Accel()

{

3
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(RacingMain.cpp)

127-131p |

#define _CRT_SECURE_NO_WARNINGS

#include <iostream>

#include "Car.h"

using namespace std;

int main(void) {
Car run99;
run99.InitMembers( (char *)"run99", 100 );
run99.Accel();
run99.Accel();
run99.ShowCarState();
run99.Break();
run99.ShowCarState();

Car sped77,;

sped77.InitMembers((char *)"sped77", 100);
sped77.Accel();

sped77.Break();

sped77.ShowCarState();

return O;
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WXl ==232492] 0|5l
(FruitSaleSim1.cpp)

4
4
¢ A
°

C.:
HH| = o*EH""E(EﬂOIEi) + WS (13) (e
[0} &k4=(class FruitSeller) 2| Cl0|E{Q} &4

» XX|SE, C++ @ ZHF| X[k

0|0 ] Eq

< int APPLE_PRICE; // xIZ &+2 AlE5|2{1 CHEXI2 ™El.
< int numOfApples:;
% int myMoney;

A
E!'-r

< HHWHE =7|35)
v0|d InltMembers(int price, int num, int money);
|nt SaIeAppIes(mt money);

% oiX{ AIE} E0]|7]
void ShowSaIesResuIt(),

¢ Sili2c| Hof = Ete] MM (1= HF WH)
¢ ZalA EjClo| HiL A-lo-l |:|: stk = ZHF]| MM

e T el == EH O -
FruitSeller seller,;

FruitSeller *pSeller = new FruitSellet;



WA X| & Z2aLe] o
(FruitSaleSim1.cpp 1/3)

#include <iostream>
using namespace std;
class FruitSeller {
int APPLE_PRICE;
int numOfApples;
int myMoney;
public:
void InitMembers(int price, int num, int money) {
APPLE_PRICE = price;
numOfApples = num;
myMoney = money;
}
int SaleApples(int money) {
int num = money / APPLE_PRICE;
numOfApples -= num;
myMoney += money;
return num;

}
void ShowSaIesResuIt() {

cout << "B Atk " << numOfApples << end];

cout << "HOi =9: " << myMoney << endl << end|;
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(FruitSaleSim1.cpp 2/3)

class FruitBuyer {

int myMoney; // private:
int numOfApples;// private:

public:
void InitMembers(int money) {
myMoney = money; CHE 28K (seller)Of Al T Al X]|
numOfApples = 0; ™ & (Message Passing).
} 2+ 3E 7|8 E O|F0{ .

void BuyApples(FruitSeller& seller, int money) {
numOfApples += seller.SaleApples(money);
myMoney -= money;,
}
void ShowBuyResuIt() {
cout << "®X| THH: " << myMoney << end|;
cout << "Ardt 7= " << numOfApples << endl << endl;
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(FruitSaleSim1.cpp 3/3)
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int main(void) {
FruitSeller seller;
seller.InitMembers(1000, 20, 0);
FruitBuyer buyer;
buyer.InitMembers(5000);

cout << "1t THORXIO| &= << endl:
seller.ShowSalesResult();
cout << "t AO{XIO| =" << endl;
buyer.ShowBuyResult();

olo

lO

buyer.BuyApples(seller, 2000);

cout << "I EOXIS| 2" << end];
seller.ShowSalesResult();

cout << "t FAOYXte| g << endl:
buyer.ShowBuyResult();

return O;




